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>More settings
>Scale to adjust ratio so that all questions fit on one page before printing

Print 4 pages
Tutorial Quiz 1
Dear Student Layout Portrait v
Please answer the following 2 MCQ questions. You have 10 minutes to answer them once you have started but | have given
you extra 5 minutes in total to answer them. ou submit ithin the 15 minutes.
Regards
The equation [3z — 9] = |9 — 3z| has More settings A
QO nosolution.
QO onlythesolutionsz = +3andz = —3
QO onlysolutionz = 3
Q  infinitely many solutions
Paper size A4 v
Given the function, f (2) = v/12 cos 4z — 2sin 4z. Express f (2) in the form R cos (4z + 8) where Ris aconstant
and @ is an angle. Then use the expression to solve the equation f (;z) = —2and give the general solutions for z.
) Pages per sheet 1 v
Solution:
f(z) = Reos (4z +0) =AB
Hence f (Lz) = -2 = c=—1
Therefore,z =Dor =E Margins Default v
Choose the correct answers for A, B, C, D and E from the Drop down boxes below.
Scale Customised v
I fA=squareroot (3) | | £A=3 | | HA=1] I §§A=4] =2 [ B=msl4x+pi/12)‘ 80 b
[ i B= cos(dx+ pi/3) ‘ # B=cos(4x+pi/6) i B= cos(dx-pi/12) # B= cos(4x - pi/3) [ i C=cos(2x - pi/6)
[ i C=cos(4x + pi/6) ‘ i C= cos(2x + pi/6) C=cns(8xrpi/12]‘ [ C=cos(8x+pi/12)‘ Options Headers and footers
[ i '/4)'(k)[p'\),kisaninkeger‘ [ #D= (pi)(4/3)Hsk](PiLkisanintegerJ
( /8)+ (/2)pi, ks aninteger | /4)+ (2K, kis an integer D Background graphics
I D= (pif8) + (2K)(pi) kis an integer E= (pi)(-5/24) + (k/2)(pi), kis an integer
[ # E= (pi)(-5/12) + (K)(pi), k is aniinteger ‘ #E= (pi)(-5/12) + (2K)(pi), k is an integer l
[ = (pi)(-5/24) + (2K)(pi), kis an integer J #E=(pi)(5/3) + (k/2)(pi), kis an integer ‘
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